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Notes: Operations with Radicals

Do Now: Simplify each expression.
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Find the largest perfect
square that divides the radicand.
Step 2: Rewrite the square root as the
product of the square root of the perfect
square and the other factor.

Step 3: Find the square root of
the perfect square.

Remember how to simplify radicals...

1) 5x + 8x 2) 5x% + 8x
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What Should I Be Able to Do?

- I can completely simplify radical expressions with both numbers and variables.
- I can explain the process of completely simplifying a radical.

- I can add and subtract radical expressions.

- I can multiply radical expressions.

- I can divide radical expressions.

- I can explain the process of dividing radical expressions




Simplifying Radicals
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When ADDING or SUBTRACTING radicals, you must have ...
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Simplify each of the following radical expressions:
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But what if we have ...
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Multiplying Radicals

V5 (vV10) Step 1: Simplify any radicals possible.
\SSZ) Step 2: MULTIPLY coefficients
MULTIPLY radicands.
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@ Step 3: If possible, simplify the product.
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Vocab Corner

Conjugate: A conjugate of a
binomial is made by changing
the operation with + to — or from
—to +.
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Success Criteria

- I can completely simplify radical expressions with both numbers and variables.
Completely simplify the following radical expressions.
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- I can explain the process of completely simplifying a radical.
Explain each step to completely simplifying the following radical expression.

oo
Fist woite 108 ad x$ as facids W\ﬂ)

A, ’97\6(‘ o lolag ’\WL \\l@hﬁﬁ \)Qf focT SCIUW‘Q_
ﬂ\f:LdA\AOQ

136 3 X —
NexT | ayalgedr md\ gqusre el (543 X I
Last lv eete Gx > Tox

P

- I can add and subtract radical expressions.
Completely simplify the following radical expressions.
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- I can multiply radical expressions.
Completely simplify the following radical expressions.
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- I can divide radical expressions. g\’ ZS- ‘( ]
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- I can explain the process of dividing radical expressions.
Explain each step to completely simplifying the following radical expression.
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Classwork: Operations with Radicals
Completely simplify each radical expression.
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9) Determine whether the following statement is true or false. Explain your reasoning.
The cube root of —42 is not a real number.
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10) Given b > 0, completely simplify the product of a — Vb and its conjugate.
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11) Completely simplify the following expression:
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